>>symsxyts
>> f=heaviside(t)+heaviside(t-1)*(t*2-1)+heaviside(t-3)*(sin(2*t)-t*2)

f=
heaviside(t) + heaviside(t - 3)*(sin(2*t) - t*2) + heaviside(t - 1)*(t*2 - 1)
>> ezplot(f,[0,10])

>> symsxytsY

>> eqn=sym(['D(D(y))(t)+3*D(y)(t)+y(t)=heaviside(t)+heaviside(t-1)*(-2)+heaviside(t-2)']);
>> [teqn=Ilaplace(eqgn,t,s);

>> neweqn=subs(lteqgn, {'laplace(y(t),t,s)’,'y(0)','D(y)(0)'},{Y,1,1});

>> ytrans=simplify(solve(neweqn,Y));

>> y=ilaplace(ytrans,s,t)

y:

2*heaviside(t - 1)*(exp(3/2 - (3*t)/2)*(cosh((5M(1/2)*(t - 1))/2) + (3*5A(1/2)*sinh((5A(1/2)*(t - 1))/2))/5)
- 1) - heaviside(t - 2)*(exp(3 - (3*t)/2)*(cosh((5M(1/2)*(t - 2))/2) + (3*57(1/2)*sinh((5(1/2)*(t - 2))/2))/5)
- 1) + exp(-(3*t)/2)*(cosh((52(1/2)*t)/2) - (3*57(1/2)*sinh((5"(1/2)*)/2))/5) - exp(-
(3*t)/2)*(cosh((57(1/2)*t)/2) + (3*57(1/2)*sinh((57(1/2)*t)/2))/5) + (8*5"(1/2)*exp(-
(3*t)/2)*sinh((58(1/2)*1)/2))/5 + 1

>> ezplot(y,[0,5])
>>

>>symsxytsY

>> eqn=sym(['D(D(y))(t)+D(y)(t)+y(t)=dirac(t-1)']);

>> lteqn=Ilaplace(eqgn,t,s);

>> neweqn=subs(lteqgn, {'laplace(y(t),t,s)’,'y(0)','D(y)(0)'},{Y,0,0});
>> ytrans=simplify(solve(neweqn,Y));

>> y=ilaplace(ytrans,s,t)

y —
(2*37(1/2)*sin((37(1/2)*(t - 1))/2)*heaviside(t - 1)*exp(1/2 - t/2))/3

>> ezplot(y,[0,12])
>>



